Y6k, The speed of a bullel 15 measured to be 640 mys as the hullet
energes from o barre] of leagth 1,20 m. Assuming constant socel-
eration, find the time that the bullet spends in the barrel alter i s
fired
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B2 Figure 2-21 depicts the mo- 2 om)
tiom of i particle moving along an
voaxis wilh a constant acoeler-
Lion, Whar ane the misgmiede and
dircction of the particle's aceel-
srationy




TP At the mstant the raffic lght wms green, an automohile stams
with 1 constant acceleration @ of 2.2 mfs=. At the same instant a
wrock, maveling with o constant speed of 4.5 mys, oventakes und
passes the automobile, {33 How far bevond the muffic sigmal wall
the autamehile overtake the truck? (b How fast will the cor be
traveling at that instant?
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47, A hoodlum throws a stone vertically downward with an initial
spocd of 1240 mys from the roof of a building, 3000 m above the
groand, (ah How tomy does 1t take the stone w0 reach the ground?
(b} What is the speed of the stone at wopact?
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S5IP. A model rocker fired verically from the grownd ascemds with
a constant vertical aceeleration of 4.00 mis” for 6.00 & It fuel =
then exhansied, o it continues opward as o fnee-fall particle and
then talls back down. (a) What is the maximum altitude reached?
(h What 1 the wial tme elapsed Trom akeoil untl the rocker
strikes the around?
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AP A stone 1 dropped inte a river from o brdee 4349 moabove
the water. Arsother stong s throwen vertcally dowsy OB < alter the
ficst 15 dropped, Both stones stnke the water at the same ime,
(a) What & the initial speed of the second stone? cbi Plog velocity
versus fime on a graph for cach stone, teking oeco time a8 the instan

the fiesr stone 15 released.
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